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Question Bank
Q%% @™ ( Elective Course )

wrfife ( Economics )

S8 %q ( 8th Paper )
Computer Applications in Economics & Research Methodology : EEC-8

Which is called the brain of the computer?
Computer-93 Brain I JCe1 ?

Which is a permanent memory of a computer?
Computer-&3 1 memory &2

Based on the style of printing, printers are of types.
Printing-9< Style W@, Printer .............. AT |

What is the other name for Binary digit?
Binary RJICP O] AT CL o1 237

is a place where processing takes place.
........................ (5% G315 B (AT processing TCB|

Which is the most famous type of Operating System in Personal computer
Personal SPGB FACHC RUTS FCF Operating system 0% ..........eeeveeeenn..

Windows explorer serve as a

Windows explorer ..................... - I FCL |

When a computer starts, operating system checks all the and loads their
drivers so a user can work properly.

T2 &3 Computer start (I Operating system ..................... -9 RB12 T FCH @32 O driver-99 load FCF MO
IR ADFSIF et FACS A1 |

Word shows the document information (total pages, words) on the bar.

Word ......coun. bar & document information ( total pages, words ) (W¥T¥ |

Changing the width of the lines in a paragraph is known as
% Paragraph-d line %R &IOS ARREACE .....o.ooooooe 0T |

Related fields in a database are grouped to form a
Database-9 M2f&8 CFa®R Grouping FA 2 ....oovvvveeree UEReI

The property / properties of a database is / are
Database &3 property 1 properties-@]% M
A database language concerned with the definition of the whole database structure

and schema is
@3 Database Language ¥ 7™ database structure 932 schema-&3 305 &8 ...

How to create a relationship between two tables in database?
Database-& 75 Table-d3 304y 7% [FICa 41 A1 2

Which data type allows alphanumeric characters and special symbols?
(I Datatype alphanumeric character €<% Special system (= allow S ?

Which relationship cannot be applied in Access database?

Access database-9 C?Fmﬁﬂ“"l?gﬂ@ 7?2
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Which is not a view to display a table in Access?
Access in table (9 view display P 78 7% ?

What is a form in MS Access?

MS. Access-€3 form & 2

What are the functions of M S Excel?
(1% MS Excel-F function =¥ ?

Which feature of MS Excel helps you to enter the series of data automatically?
MS Excel-93 (I CIMRITET &0 series of data (O FSIRFSIIZ (GIFT TR 2

What does the changing in the appearance of the text refer to?

Text-4 appearance-93 2RASAETS! FICP HTAH FCF 2

Explain Cross-sectional data.

Cross-sectional Data &7

What is the process of collection, organization, and description of data?
Data-d Process of collection, organization €<% description (F R

Explain ordinal data.

Ordinal data f?

Census is conducted after how many years?
IO IS ABI IBF Census 12T ?

A project would normally been undertaken if its NPV (Net Present Value) is
93 Project O3 (F3 (I T2 &3 NPV ( Net Present Value ) ..................... .

Benefit-cost analysis should adopt in evaluating benefits and costs of a
public project

@3 Public project-9d T FHCO Benefit cost analysis ................ NI

What is the present value of Rs. 121 expected two years from today at a discount rate of
10% per year?

IR 10% discount rate-d Rs. 121-99 1-IRCHK TSN T ( Present value ) ¥ 203 ?

What are the basic components of a survey research?
eaniy Survey research-99 necessary component <3 ?

Explain smoothening method.
Smoothing Methods K92 high level of accuracy (¥ ................ CHLa |



